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91603  Demonstrate understanding of the responses of 

plants and animals to their external environment

2.00 p.m. Thursday 10 November 2016 

Credits: Five

Achievement Achievement with Merit Achievement with Excellence

Demonstrate understanding of the 
responses of plants and animals to their 
external environment.

Demonstrate in-depth understanding of 
the responses of plants and animals to 
their external environment.

Demonstrate comprehensive 
understanding of the responses of 
plants and animals to their external 
environment.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet and 
clearly number the question.

Check that this booklet has pages 2 – 15 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

Merit

16

No part of the candidate evidence in this exemplar material 

may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.

































Annotated  Exemplar  –  M16  -­  125928754  

Merit  exemplar  2016  

Subject:   Biology   Standard:   91603   Total  score:   16  

Q  
Grade  

score  
Annotation  

1   M6  

This  is  a  strong  Merit  answer  that  prides  clear  evidence  that  the  student  

understands  the  behaviours  with  the  costs  and  benefits  to  the  species  

involved.  This  answer  fails  to  reach  Excellence  because  the  student  does  not  
convey  the  impression  that  they  understand  that  the  costs  of  the  behaviours  

must  be  outweighed  by  the  benefits,  and  therefore  does  not  provide  sufficient  

evidence  of  an  evaluation.  

2   M5  

The  candidate  provides  good  explanations  of  how  hierarchy  is  maintained  and  
also  of  factors  that  affect  position.  (M5  =  2  points)  They  incorrectly  identify  the  

hyena  challenging  for  position,  so  the  explanation  given  for  it  being  hyena  ‘F’  

is  incorrect.  To  attain  Excellence  the  candidate  would  have  needed  to  

compare  and  contrast  the  costs  and  benefits  of  being  a  particular  sex/rank  
within  a  hierarchy  vs  solitary  living.    

3   M5  

The  candidate  provides  a  clear  explanation  of  how  the  behaviour  can  be  

identified  as  endogenous.  In  addition  they  explain  an  adaptive  advantage  well.  
Differences  in  the  actograms  are  not  sufficiently  detailed,  so  the  third  Merit  

point  was  not  awarded.  (M6  =  3  points)  If  the  adaptive  advantages  had  been  

considered  further,  this  candidate  my  have  been  awarded  E7  for  this  question,  

though  their  overall  performance  would  still  be  in  the  Merit  category,  with  a  
potential  score  of  18.    


